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Neo MEHIO 1-4 HaMmeHOBaHMeE N KON-BO Ha 1 yenosekKa
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106 orypew, HaTyp 100 100 - 94 2 7 6
406 NA0B U3 OTBApP Kypuupbl 200 90 66 10 17 20 368 |2 2 16
283 KOMMOT U3 cmecu c/op 200 25 15 71 1 0 29
85 Xneb niweHnYHbIM 40 40 110 |2 0 14
uToro Ha 1 yenoseka 100 |90 66 10 17 20 25 15 40 643 |7 9 65
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50 3aKyCKa U3 CBEK/Ibl 60 114 6 59 1 6 0
390/453|tedT "Exxunkmn" c nogn (tom /{80/40 100 |6 2 2 1 110 |5 7 2
429 niope KaptodenbHoe 200 226 |9 184 |4 8 21
518 COK HaTypa/ibHbIi 200 285 110 1 0 0
85 Xneb niweHnYHbIM 30 30 95 2 0 15
nToro Ha 1 yenoseka 114 100 |6 8 2 226 |9 285 (1 30 558 |13 21 |38
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106 NoOMKWAOP HaTypabHbIA 100 100 8 0 0 |2
343 Pbiba Tyw. B Tom.c c oBouy, (85/40/60 113 |6 2 2 24 46 1 194 120 |10 |5
414 puc oTBapHOM 180 70 8 124 )1 10 |8
496 KaKao C MOJIOKOM 200 1,5 15 80 144 |14 3 |25
122 A610K0 100 142 47 |0 0 (10
85 Xneb nieHnYHbIN 30 30 95 |2 0 |15
uToro Ha 1 yenoseka 100 |113 (6 2 2 24 46 70 8 1,5 16 80 142 |30 612 (27 |23 |65
aeHbd
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106 orypeu, HaTypasbHbIl 100 100 ° 8 0 0 2
518 CHEMXOK 200 200 100 |6 5 8
373/453[rony6eu, c noganmsom 100/40 130 |6 2 2 1 156 |11 (11 |7




291 MAKapOHbl OTBApPHbIE 180 61 8,4 234 |6 5 40
286 Kod HanuToK 200 2 15 64 3 3 20
85 Xneb niweHnYHbIM 40 40 95 2 0 15
nToro Ha 1 yenoseka 100 [130 (6 2 2 61 8,4 2 16 200 (40 657 (28 (24 (92
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=x 4 0
peL, 2 = 9 o & =< = < = = ° o = ] S (6 x|y
106 NoOMKUAOP HaTypasbHbIN 100 100 8 0 0 2
405 Kypuua Tyw. B TOM COY 80/40 100 |6 3 1 8 6 192 (14 (14 |4
237 Kalla rpey paccbiny 150 63 9 259 |8 8 39
492 Yyali U caxapom 200 1 15 60 |0 |[O 0
112 A610KO 130 130 61 [0 |[O 13
85 Xneb nweHUYHbIM 30 30 71 |3 |0 20
utoro Ha 1 yenoseka 100 |100 (6 3 1 8 6 63 9 1 15 30 130 651 |25 (22 |78
AeHb6
516 CHEMXOK 200 200 8 0 0 2
610/453|koTneTta aom. c noan (tom /{80/40 100 |6 2 2 2 192 (13 (13 (14
241 Kalla nweHHaaA paccbiny 180 71 9 295 |8 10 |44
93 byTepbpoT C cbipom 15/20 20 15 123 |5 18 |8
283 KOMMOT U3 cmecu c/op 200 15 25 71 |1 0 29
85 Xneb niweHnYHbIM 30 30 71 |2 0 |15
utoro Ha 1 yenoseka 200 |100 |6 2 2 71 9 17 25 20 45 760 (29 |41 (112
AeHb7
z o) Z L |z
= = ) © » 9 3] 3 x = = o)) S K y
50 3aKyCKa U3 CBEK/bl 60 114 6 59 |1 6 0
407 Pary 13 ntuubl 200 100 |7 7 1 122 |24 14 291 |3 6 |24
518 CoK HaTypa/ibHbIl 200 227,3 110 |1 0 0
85 Xneb niweHMYHbIN 30 30 95 |2 0 15
uToro Ha 1 yenosekKa 0 114 |100 |7 13 1 122 |24 14 227,3 30 555 |7 12 |39
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106 noOMUA0p HaTyp 100 100 8 0 0 2
373/453|ronybeu, c nognmsom 100/40 130 |6 2 2 1 156 |11 11 |7
291 MaKapOHbl OTBapHbIe 180 61 8,4 234 |6 5 40
286 Ko HanUTOK 200 2 15 64 3 3 20
112 A610K0 100 150 47 0 0 10
85 Xneb niieHUYHbIN 40 40 95 2 0 15

MUTOro Ha 1 yenosekKa 100 [130 |[6 2 2 61 8,4 2 16 150 |40 604 (22 19 |94
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93 6yTepbpoT C Chipom 15/20 20 15 123 |5 18 |8
610/453[koTneta gom. c noan (tom /q80/40 100 |6 2 2 2 192 |13 |13 |14
237 Kalla rpey paccbiny 200 75 8 311 |9 9 47
496 KaKao C MO/IOKOM 200 15 1,5 100 144 |4 3 25
85 Xneb 30 15 71 |2 0 15

uToro Ha 1 yenosekKa 100 |6 2 2 75 8 17 1,5 100 |20 30 841 (33 |43 (109
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106 NOMKWAOP HaTypanbHbIM 100 100 8 0 0 |2
343 Pbiba Tyw. B Tom.c c oBowy, |85/40/60 113 |6 2 2 24 46 1 194 120 |10 |5
414 pUC OTBapHOM 180 70 8 124 |1 10 |8
518 COK HaTypaibHbI 200 200 110 |1 0 |0
122 A610K0 100 100 47 |0 0 |10
85 Xneb niweHnYHbIM 30 30 95 |2 0 |15

MTOro Ha 1 yenoBekKa 100 (113 |6 2 2 24 46 70 8 200 |1 0 100 |30 578 |24 |20 |40

uToro 3a 10aHen KKan B AeHb
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106 orypeu, HaTyp 100 100 16 |0 (0 |4
406 NAOB M3 OTBApP KypuLbl 200 100|66 |10 [17 |20 4052 (2 |20
283 KOoMMoT n3 cmecu c/dp 200 25 |15 71 11 [0 |29
85 Xneb nweHUYHbIN 50 57 118|2 |0 |15

uToro Ha 1 yenoseka 100|90 |66 |10 (17 |20 |O 25 |15 |57 610|5 |2 |68
OeHb2

o 4|z

3 SlEEEIElE IR |E ;
= MEHIKO 5-11 2 |§ |2 |13 [3 I8 [S [ |8 |& S [6 |x vy
50 3aKyCKa 13 CBEKAbI 60 114 6 59 (1 |6 |O
390/453 |tedT "ExXmKK" c noan (tom /c)  |80/40 100l6 (2 |2 1 1105 |7 |2
429 niope KaptodesnbHoe 200 2269 184(4 |8 |21
492 Yyal c caxapom 200 1 |15 60 |0 |0 |O
85 Xneb nuweHnYHbIN 50 52 118(2 |0 |15

uToro Ha 1 yenoseka 114|100(6 |8 |2 [226]9 |1 (16 (52 53112 |21 |38
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Ne MEHKO 5-11 HaMMeHOBaAHME N KOM-BO Ha 1 YenoBeKa
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106 NOMMUAOP HATypPasbHbIN 100 100 16 |0 [0 |4
343 Pbi6a Tyw. B Tom.c c ooy, 100/40/60 169|6 (2 |2 [24 |46 1 194(20 |(10(5
414 puc oTBapHO 180 70 |8 1241 [10(8
496 KaKao C MOJIOKOM 200 1,5 |15 (70 14414 3 |25
85 Xneb nweHnYHbIM 50 50 118|2 [0 (15

utoro Ha 1 yenoseka 100|169(6 |2 |2 |24 |46 |70 |8 |1,5(16 (70 50 596(27 |23|57
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106 orypeL, HaTypanbHbIl 100 100 16 |0 (0 |4
373/453 |ronybey, c nognnsom 100/40 13016 |2 |2 1 156|11 |11 |7
291 MaKapOHbl OTBapHble 200 67 9,3 253[8 |8 |38
286 Ko HaNUTOK 200 2 |15 64 |13 |3 |20
85 Xneb nweHUYHbIN 50 56 95 |12 [0 |15

uToro Ha 1 yenoseka 1001306 |12 |2 |67 |9,3 |2 |16 56 584124 |22 |84
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pew B o Jo |53 |8 |f |x | |Jow [S | |o S KOy
106 nomunaop Hat 100 100 16 |0 [0 |4
405 Kypuua TyL. B TOM COyY 100/40 12016 |3 [1 |8 |6 21612 |12 |3
237 Kallia rpey paccbiny 150 63 |9 25918 |8 |39
492 Yyan 1 caxapom 200 1 |15 60 |0 |0 |O
85 Xneb nweHnYHbIM 50 60 11813 |0 (20

uToro Ha 1 yenoseka 100j120(6 |3 |1 |8 |6 |63 |9 (1 |15 |60 66923 |20 (66
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93 b6yTepbpoT ¢ cbipom 30/20 20 |15 123|5 |18 |8
155 Cyn c KpynoW (NweHHbIN) 250 43 (16 |150(6 13013 |5 |18
85 rPEeHKN 50 55 118|3 [0 |20
518 COK HaTyp 200 200 1101 (0 |O
85 Xneb niweHnYHbIN 30 30 71 12 [0 |15

uToro Ha 1 yenoseka 200(43 |16 [150(6 |20 |100 552(14 |23 |61
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106 NOMWUAOP HATYpPasbHbIN 100 100 16 |0 |0 |4
610/453 |koTneta gom. c noan (tom /c) 80/40 100|6 |2 |2 2 192|13 |13 |14
241 Kala nweHHasa paccbiny 180 71 (9 295|8 |10 |44
283 KomMnoT 13 cmecu ¢/dp 200 15 |25 71 |1 |0 |29
85 Xneb nweHnYHbIM 50 55 118|2 |0 |15
uToro Ha 1 yenoseka 100|100(6 |2 |2 71 (9 |17 |25 55 692124 123 |106
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50 3aKyCKa 13 CBEK/Ibl 60 114 6 50 |11 |6 |0
407 Pary n3 ntnubi 250 12519 |9 |1 |153|30 |18 430]20 |20 |10
492 Yyaun c caxapom 200 1 |15 60 |0 |0 |[O
85 Xneb nweHnYHbIM 50 56 118|2 |0 |15
uToro Ha 1 yenoseka 11411259 |15 |1 |153|30 (18 (1 |15 |56 58119 |22 |23
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106 NOMMUAOP HATypPasbHbIN 100 100 16 |0 (0 |4
373/453 |ronybey c nognnsom 100/40 130l6 (2 |2 1 15611 |11 |7
291 MaKapOHbl OTBapHble 200 67 9,3 253[8 |8 |38
286 Kod HanUToK 200 2 |15 64 |13 |3 |20
85 Xneb nweHnYHbIM 50 54 95 (2 [0 |15
utoro Ha 1 yenoseka 1001306 |2 |2 |67 9,3 |2 |16 54 584124 |22 |84
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610/453 |kotneta gom. c noas (tom /c) 80/40 100|6 |2 |2 2 192|13 |13 |14
237 Kalla rpey paccbiny 200 75 |8 31119 |9 |47
496 KaKao C MOJIOKOM 200 15 |1,5 (100 144(4 |3 |25
85 Xneb 50 56 118(2 |0 |15
uToro Ha 1 yenoseka 100|16 (2 |2 |75 |8 |17 |1,5]|100 56 765|128 125 (101
AeHbll
No MEHIO 5-11 HanvmeHOBaHMe N KOA-BO Ha 1 yenoBeka
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106 NnoMMA0pP HaTypasbHbIN 100 100 16 |0 [0 |4
343 Pbi6a Tyw. B Tom.c c oBouy, 100/40/60 169|6 |2 |2 (24 |46 1 194|120 |10(5
414 puc oTBapHOM 180 70 |8 1241 (10(8
496 KaKao C MOJIOKOM 200 1,515 (70 144(4 (3 (25
85 Xneb nweHUYHbIN 50 50 118|2 [0 (15
nToro Ha 1 yenoseka 100|169|6 |2 (2 |24 |46 (70 |8 |1,5(16 |70 50 596127 |23]|57
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93 6yTepbpoT C Cbipom 30/20 5 (20 (30 123|5 |18 (8
296 MaKap 134 3aneuy ¢ Cbipom 180/10 72 |8 |10 37611 |19 |38
492 yali c caxapom 200 15 11 64 (1 |0 |O
85 Xneb nieHUYHbIN 70 70 118|2 |0 |15
uToro Ha 1 yenoseka 72 |13 |30 |100|15 |1 681(19 |37 |61
uToro 3a 12 gHen KKan B AeHb
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